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Ex/Phil/UG/5.2/37/2018

BACHELOR OF ARTS EXAMINATION, 2018

(3rd Year, 5th Semester)

PHILOSOPHY

Epistemology (Western)

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each group.

Group - A / øıˆ¬±· - fl¬

1. Discuss in detail the second pre-supposition of Gettier’s
counter examples. How has this presupposition been
criticized ? 3+7=10

Œ·øÈ¬ ˛̊±ı˛-¤ı˛ øıèX¬ ‘©Ü±ôL√&ø˘ Œ˚ øZÓ¬œ ˛̊ ¬Û”ı«¶§œfl‘¬øÓ¬ı˛ Î¬◊¬Ûı˛ øÚ «̂¬ı˛̇ œ˘

Ó¬± ¸øıô¶∏±Àı˛ ’±À˘±‰¬Ú± fl¬ı˛º ¤˝◊ ¬Û”ı«ø¸X±ÀôL√ı˛ øfl¬ˆ¬±Àı ¸˜±À˘±‰¬Ú±

fl¬ı˛± ˝À˚˛ÀÂ ∑ 3+7=10

Or / ’Ôı±

2. What does Russell mean by ‘knowledge by acquaintance’
and ‘knowledge by desciption’ ? What, according to Russell,
are the things that we know by acquaintance ? 5+5=10
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ë¸±é¬±»fl¬±ı˛˜”˘fl¬ :±Úí › ëıÌ«Ú±˜”˘fl¬ :±Úí ı˘ÀÓ¬ ı˛±À¸˘ fl¬œ

Œı±ÀÁ¬Ú ∑ ı˛±À¸˘-¤ı˛ ˜ÀÓ¬ ¸±é¬±»fl¬±ı˛̃ ”̆ fl¬ :±ÀÚ ’±˜ı˛± Œfl¬±Ú Œfl¬±Ú

ıdÀfl¬ Ê±ÚÀÓ¬ ¬Û±øı˛ ∑ 5+5=10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. Discuss briefly the significance of each of the three conditions
mentioned in the JTB definition of knowledge. 5

˚Ô±Ô« :±ÀÚı˛ JTB ˘é¬ÀÌ Î¬◊ø{°ø‡Ó¬ øÓ¬ÚøÈ¬ ˙ÀÓ«¬ı˛ √õ∂ÀÓ¬…fl¬øÈ¬ı˛ Ó¬±»¬Û «̊

¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

4. If I know that the first Prime Minister of India wrote The
Discovery of India, what would be the nature of my
knowledge ? Answer following Russell. 5

’±ø˜ ˚ø Ê±øÚ Œ˚ ˆ¬±ı˛ÀÓ¬ı˛ √õ∂Ô˜ √õ∂Ò±Ú˜Laœ The Discovery of
India ·ËLöøÈ¬ ø˘À‡ÀÂÚ Ó¬±˝À˘ ’±˜±ı˛ :±ÚøÈ¬ı˛ ¶§ı˛+¬Û fl¬œ ˝Àı ∑

ı˛±À¸˘Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛ Œ˘‡º 5

Group - B / øıˆ¬±· - ‡

5. State in brief the difference between empiricism and
rationalism. In this context mention two important theses
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accepted by the rationalists, and rejected by empiricists.
What is the difference between these two theories regarding
the role of intuition and deduction in the origin of
knowledge ? 10

5º ’øˆ¬:Ó¬±ı± ¤ı— ı≈øXı±Àı˛ ˜”˘ ¬Û±Ô«fl¬… ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛º

¤˝◊ √õ∂¸À/ ı≈øX¬ı±œÀı˛ ¶§œfl‘¬Ó¬ ≈øÈ¬ ˜”˘ Ó¬ÀMWı˛ Î¬◊À{°‡ fl¬Àı˛± Œ˚&ø˘

’øˆ¬:Ó¬±ı±œı˛± ‡G¬Ú fl¬Àı˛ÀÂÚº :±Ú Î¬◊»¬ÛøMı˛ Œé¬ÀS ¶§:± ›

’ıÀı˛±˝ÀÚı˛ ˆ”¬ø˜fl¬± ¸•ÛÀfl«¬ ’øˆ:Ó¬±ı±œ ¤ı— ı≈øXı±œ ˜ÀÓ¬ı˛

¬Û±Ô«fl¬… ’±À˘±‰¬Ú± fl¬ı˛º 10

Or / ’Ôı±

6. Discuss Locke’s theory of knowledge. Is Locke’s theory of
knowledge is consistent with empiricism ? Give reasons. 10

6º ˘Àfl¬ı ˛ :±ÚÓ¬MW ’±À˘±‰¬Ú± fl¬ı ˛º ˘fl¬œ˚ ˛ :±ÚÓ¬MW øfl¬ Ó “ ¬ ±ı ˛

’øˆ¬:Ó¬±ı±Àı˛ ¸±ÀÔ ¸/øÓ¬¬Û”Ì« ∑ ˚≈øMê ±› º 10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. Examine the pragmatic criterion of truth. 5

¸Ó¬…Ó¬± ¸•Ûøfl«¬Ó¬ √õ∂±À˚˛±ø·fl¬ ˜±ÚG¬øÈ¬ øı‰¬±ı˛ fl¬ı˛º 5
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Or / ’Ôı±

8. What does ‘coherence’ mean in the context of coherence
theory of truth ? 5

¸Ó¬…Ó¬± ¸•ÛÀfl«¬ ¸—¸øMêı±À ë¸—¸øMêí ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛ ∑ 5

—————
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